BID TABS PROJECT 22-1140 TOWN COUNTRY STORM IMPROVEMENTS (NORTH) BID DATE: FEBRUARY 23, 2022

	В	ID DATE: FEB	RUARY 23, 20	022					
				A.W. Oakes	s & Son, Inc.	LaLonde Contractors, Inc.		Zignego Co	ompany, Inc.
				Racii	ne WI	Waukesha, WI		Waukesha, WI	
Item Number	Roadway and Storm Sewer Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.0120	Clearing	25	ID	\$80.00	\$2,000.00	\$72.00	\$1,800.00	\$72.00	\$1,800.00
201.0220	Grubbing	25	ID	\$35.00	\$875.00	\$30.00	\$750.00	\$30.00	\$750.00
204.0100	Removing Concrete Pavement	7260	SY	\$3.00	\$21,780.00	\$7.97	\$57,862.20	\$10.00	\$72,600.00
204.0150	Removing Curb and Gutter	4900	LF	\$3.00	\$14,700.00	\$5.44	\$26,656.00	\$6.00	\$29,400.00
204.0155	Removing Concrete Sidewalk	450	SY	\$10.00	\$4,500.00	\$9.00	\$4,050.00	\$6.00	\$2,700.00
204.0210	Removing Manholes	10	EACH	\$1,535.00	\$15,350.00	\$550.00	\$5,500.00	\$550.00	\$5,500.00
204.0220	Removing Inlets	25	EACH	\$770.00	\$19,250.00	\$550.00	\$13,750.00	\$550.00	\$13,750.00
211.0200	Prepare Foundation for Concrete Pavement (project)	1	LS	\$37,000.00	\$37,000.00	\$13,609.00	\$13,609.00	\$5,000.00	\$5,000.00
305.0120	Base Aggregate Dense 1-1/4 Inch	3700	TON	\$10.60	\$39,220.00	\$22.05	\$81,585.00	\$25.00	\$92,500.00
415.0080	Concrete Pavement 8-Inch	6600	SY	\$44.00	\$290,400.00	\$41.86	\$276,276.00	\$56.68	\$374,088.00
415.1080	Concrete Pavement HES 8-Inch (Undistributed)	400	SY	\$49.00	\$19,600.00	\$57.02	\$22,808.00	\$71.18	\$28,472.00
415.4100	Concrete Pavement Joint Filling	8000	SY	\$2.00	\$16,000.00	\$1.70	\$13,600.00	\$1.50	\$12,000.00
416.0160	Concrete Driveway 6-Inch	400	SY	\$45.00	\$18,000.00	\$51.85	\$20,740.00	\$44.66	\$17,864.00
416.0180	Concrete Driveway 8-Inch	260	SY	\$48.00	\$12,480.00	\$68.96	\$17,929.60	\$49.28	\$12,812.80
416.0610	Drilled Tie Bars	1900	EACH	\$8.00	\$15,200.00	\$10.20	\$19,380.00	\$15.00	\$28,500.00
416.0620	Drilled Dowel Bars	100	EACH	\$15.00	\$1,500.00	\$16.25	\$1,625.00	\$28.00	\$2,800.00
465.0110	Asphaltic Surface Patching	15	TON	\$300.00	\$4,500.00	\$425.00	\$6,375.00	\$545.98	\$8,189.70
601.0409	Concrete Curb & Gutter 30-Inch Type A	4900	LF	\$19.75	\$96,775.00	\$20.29	\$99,421.00	\$15.30	\$74,970.00
602.0405	Concrete Sidewalk 4-Inch	1300	SF	\$6.00	\$7,800.00	\$5.42	\$7,046.00	\$10.34	\$13,442.00
602.0415	Concrete Sidewalk 6-Inch	1470	SF	\$6.25	\$9,187.50	\$7.00	\$10,290.00	\$10.64	\$15,640.80
602.0415.S	Concrete Sidewalk 8-Inch	1300	SF	\$6.50	\$8,450.00	\$9.28	\$12,064.00	\$10.95	\$14,235.00
602.0515	Curb Ramp Detectable Warning Field Natural Patina	280	SF	\$40.00	\$11,200.00	\$35.48	\$9,934.40	\$50.00	\$14,000.00
	Storm Sewer Pipe Reinforced Concrete Class III 18-Inch (granular)	60	LF	\$79.00	\$4,740.00	\$141.00	\$8,460.00	\$141.00	\$8,460.00
608.0318.S2	Storm Sewer Pipe Reinforced Concrete Class III 18-Inch (slurry)	24	LF	\$86.00	\$2,064.00	\$186.00	\$4,464.00	\$186.00	\$4,464.00
608.0324	Storm Sewer Pipe Reinforced Concrete Class III 24-Inch	820	LF	\$110.00	\$90,200.00	\$160.00	\$131,200.00	\$160.00	\$131,200.00
608.0336	Storm Sewer Pipe Reinforced Concrete Class III 36-Inch	390	LF	\$211.00	\$82,290.00	\$250.00	\$97,500.00	\$250.00	\$97,500.00
608.0348	Storm Sewer Pipe Reinforced Concrete Class III 48-Inch (slurry)	30	LF	\$345.00	\$10,350.00	\$520.00	\$15,600.00	\$520.00	\$15,600.00
608.0415	Storm Sewer Pipe Reinforced Concrete Class IV 15-Inch	45	LF	\$75.00	\$3,375.00	\$108.00	\$4,860.00	\$108.00	\$4,860.00
608.0512.S1	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch (granular)	510	LF	\$75.00	\$38,250.00	\$110.00	\$56,100.00	\$110.00	\$56,100.00
608.0512.S2	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch (slurry)	95	LF	\$87.00	\$8,265.00	\$130.00	\$12,350.00	\$130.00	\$12,350.00
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class				. ,	·	. ,		
608.2329.S1	HE-III 29x45-Inch (granular)	660	LF	\$264.00	\$174,240.00	\$405.00	\$267,300.00	\$405.00	\$267,300.00
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class			, , , , , ,	, , , , , , , , , , , , , , , , , , , ,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, , , , , , , , , , , , , , , , , , , ,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
608.2329.S2	HE-III 29x45-Inch (slurry)	64	LF	\$406.00	\$25,984.00	\$460.00	\$29,440.00	\$460.00	\$29,440.00
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class			,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,	•	, ,,
608.2368.S1	HE-III 68x106-Inch (granular)	200	LF	\$782.00	\$156,400.00	\$965.00	\$193,000.00	\$965.00	\$193,000.00
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class			Ţ: 0=:00	+ 100,100	***************************************	* 100,000100	*	7 ,
608.2368.S2	HE-III 68x106-Inch (slurry)	24	LF	\$887.00	\$21,288.00	\$1,250.00	\$30,000.00	\$1,250.00	\$30,000.00
611.2004	Manholes 4-FT Diameter	6	EACH	\$2,200.00	\$13,200.00	\$1,900.00	\$11,400.00	\$1,900.00	\$11,400.00
611.2005	Manholes 5-FT Diameter	6	EACH	\$3,350.00	\$20,100.00	\$3,400.00	\$20,400.00	\$3,400.00	\$20,400.00
611.2006	Manholes 6-FT Diameter	3	EACH	\$5,725.00	\$17,175.00	\$6,000.00	\$18,000.00	\$6,000.00	\$18,000.00
611.2007	Manholes 7-FT Diameter	1	EACH	\$8,050.00	\$8,050.00	\$6,700.00	\$6,700.00	\$6,700.00	\$6,700.00
611.2009.S	Manholes 9-FT Diameter	1	EACH	\$12,910.00	\$12,910.00	\$13,500.00	\$13,500.00	\$13,500.00	\$13,500.00
611.3230	Inlets 2x3-FT	38	EACH	\$1,575.00	\$59,850.00	\$1,950.00	\$74,100.00	\$1,950.00	\$74,100.00
011.3230	Inlets 2x3-F I	38	EACH	φ1,5/5.00	უეყ,გეს.00	φ1,950.00	φ/4, IUU.UU	φ1,950.00	φ/4, IUU.U

611.8110.A Adjusting Manhole Covers – Storm	2	EACH	\$455.00	\$910.00	\$700.00	\$1,400.00	\$649.00	\$1,298.00
611.8110.B Adjusting Manhole Covers – Storm	11	EACH	\$750.00	\$8,250.00	\$1,150.00	\$12,650.00	\$1,115.00	\$12.265.00
611.8115 Adjusting Maintole Covers – Santary	2	EACH	\$455.00	\$910.00	\$700.00	\$1,400.00	\$649.00	\$1,298.00
619.1000 Mobilization	1	EACH		\$128,000.00	\$19,668.06	\$19,668.06	\$37,000.00	\$37,000.00
625.0100 Topsoil (4")	2400	SY	\$5.00	\$12,000.00	\$4.50	\$10,800.00	\$4.50	\$10,800.00
628.7010 Inlet Protection Type B	24	EACH	\$60.00	\$1,440.00	\$55.00	\$1,320.00	\$55.00	\$1,320.00
628.7020 Inlet Protection Type D	72	EACH	\$110.00	\$7,920.00	\$100.00	\$7,200.00	\$100.00	\$7,200.00
629.0210 Fertilizer Type B	2	CWT	\$100.00	\$200.00	\$75.00	\$150.00	\$75.00	\$150.00
631.0300 Sod Water	45	MGAL	\$35.00	\$1,575.00	\$30.00	\$1,350.00	\$30.00	\$1,350.00
637.1000 Sod Lawn	2400	SY	\$6.00	\$14,400.00	\$5.20	\$12,480.00	\$5.20	\$12,480.00
638.2210 Signs Type II Reflective H	65	SF	\$25.00	\$1,625.00	\$21.00	\$1,365.00	\$21.10	\$1,371.50
638.2602 Removing Signs Type II	5	EACH	\$25.00	\$125.00	\$20.00	\$100.00	\$20.00	\$100.00
638.3000 Removing Small Sign Supports	2	EACH	\$25.00	\$50.00	\$20.00	\$40.00	\$20.00	\$40.00
643.5000 Traffic Control	1	EACH	\$14,000.00	\$14,000.00	\$11,164.00	\$11,164.00	\$11,164.00	\$11,164.00
645.0220 Geogrid Type SR	350	SY	\$10.00	\$3,500.00	\$4.13	\$1,445.50	\$10.00	\$3,500.00
646.1020 Marking Line Epoxy 4-Inch	38	LF	\$8.00	\$304.00	\$7.00	\$266.00	\$14.25	\$541.50
646.6120 Marking Stop Line Epoxy 18-Inch	33	LF	\$25.00	\$825.00	\$23.00	\$759.00	\$34.75	\$1,146.75
646.7420 Marking Crosswalk Epoxy Transverse Line 6-Inch	150	LF	\$22.00	\$3,300.00	\$20.00	\$3,000.00	\$27.50	\$4,125.00
SPV.0035.01 Unclassified Excavation and Backfill	230	CY	\$40.00	\$9,200.00	\$74.08	\$17,038.40	\$75.00	\$17,250.00
SPV.0055.01 Repair Broken Spinkler Systems	5000	DOL	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
SPV.0060.01 Manhole Cover Storm	14	EACH	\$740.00	\$10,360.00	\$700.00	\$9,800.00	\$700.00	\$9,800.00
SPV.0060.02 Inlet Cover Systems	43	EACH	\$685.00	\$29,455.00	\$700.00	\$30,100.00	\$700.00	\$30,100.00
SPV.0060.03.01 Storm Manhole Structure 12x4-FT	1	EACH	\$23,800.00	\$23,800.00	\$32,000.00	\$32,000.00	\$32,000.00	\$32,000.00
SPV.0060.03.02 Storm Manhole Structure 12x7-FT	1	EACH	\$46,200.00	\$46,200.00	\$53,000.00	\$53,000.00	\$53,000.00	\$53,000.00
SPV.0060.04 Adjusting Water Valve Covers	6	EACH	\$265.00	\$1,590.00	\$342.00	\$2,052.00	\$315.00	\$1,890.00
SPV.0060.05 Sump Pump Connection and Cleanout (Undistributed)	5	EACH	\$640.00	\$3,200.00	\$900.00	\$4,500.00	\$900.00	\$4,500.00
SPV.0060.06 Storm Sewer Tap (Undistributed)	5	EACH	\$275.00	\$1,375.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
SPV.0060.07 2-3/8" OD, 16 GA Galvanized Steel Posts, 12 Foot	6	EACH	\$150.00	\$900.00	\$135.00	\$810.00	\$135.00	\$810.00
SPV.0060.08 30-Inch Round V-Loc	6	EACH	\$80.00	\$480.00	\$72.15	\$432.90	\$72.15	\$432.90
SPV.0090.01 Sump Pump Connection – Pipe (Undistributed)	50	LF	\$25.00	\$1,250.00	\$46.00	\$2,300.00	\$46.00	\$2,300.00
SPV.0105.01 Laminated No Parking Signs and Property Owner Notifications	1	LS	\$1,500.00	\$1,500.00	\$2,870.00	\$2,870.00	\$5,000.00	\$5,000.00
SPV.0105.02 As-built Plans – Storm Sewer	1	LS	\$1,500.00	\$1,500.00	\$4,980.00	\$4,980.00	\$4,980.00	\$4,980.00
SPV.0165.01 Polystyrene Insulation for Water Mains and Services	500	SF	\$3.00	\$1,500.00	\$3.00	\$1,500.00	\$3.00	\$1,500.00
SPV.0180.01 Temporary Trench Patch	400	SF	\$31.00	\$12,400.00	\$33.87	\$13,548.00	\$49.80	\$19,920.00
Roadway and Sto		İtems Subtotal	\$1,763	,542.50	\$1,986	,414.06	\$2,133	,520.95
Item Number Kenosha Water Utility Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
SPV.0060.09 Water Service Relay (fittings included)	5	EACH	\$950.00	\$4,750.00	\$2,500.00	\$12,500.00	\$2,500.00	\$12,500.00
SPV.0090.02 6-Inch Sanitary Sewer Lateral Offset	60	LF	\$180.00	\$10,800.00	\$114.00	\$6,840.00	\$114.00	\$6,840.00
SPV.0105.03 Televising of Existing Sanitary Sewer to Remain in Place	1	LS	\$19,500.00	\$19,500.00	\$2,500.00	\$2,500.00	\$3,055.00	\$3,055.00
Kenosh	a Water Utility	Items Subtotal	\$35,050.00 \$21,840.00		40.00	\$22,395.00		
		Total Bid	\$1,798	,592.50	\$2.008	,254.06	\$2,155	,915.95

BID TABS PROJECT 22-1140 TOWN COUNTRY STORM IMPROVEMENTS (NORTH)

BID DATE: FEBRUARY 23, 2022

	В	ID DATE: FEB	RUARY 23, 20						
				Globe Contractors, Inc.		DK Contractors, Inc.			
		Pewaukee, WI		Pleasant Prairie, WI					
Item Number	Roadway and Storm Sewer Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
201.0120	Clearing	25	ID	\$72.00	\$1,800.00	\$165.00	\$4,125.00		
201.0220	Grubbing	25	ID	\$30.00	\$750.00	\$41.00	\$1,025.00		
204.0100	Removing Concrete Pavement	7260	SY	\$5.00	\$36,300.00	\$12.00	\$87,120.00		
204.0150	Removing Curb and Gutter	4900	LF	\$5.00	\$24,500.00	\$3.00	\$14,700.00		
204.0155	Removing Concrete Sidewalk	450	SY	\$10.00	\$4,500.00	\$8.00	\$3,600.00		
204.0210	Removing Manholes	10	EACH	\$550.00	\$5,500.00	\$1,536.00	\$15,360.00		
204.0220	Removing Inlets	25	EACH	\$550.00	\$13,750.00	\$656.00	\$16,400.00		
211.0200	Prepare Foundation for Concrete Pavement (project)	1	LS	\$40,000.00	\$40,000.00	\$107,755.00	\$107,755.00		-
305.0120	Base Aggregate Dense 1-1/4 Inch	3700	TON	\$20.00	\$74,000.00	\$23.00	\$85,100.00		
415.0080	Concrete Pavement 8-Inch	6600	SY	\$45.00	\$297,000.00	\$48.00	\$316,800.00		
415.1080	Concrete Pavement HES 8-Inch (Undistributed)	400	SY	\$50.00	\$20,000.00	\$53.00	\$21,200.00		
415.1000		8000	SY	\$30.00	\$20,000.00	\$2.00	\$16,000.00		
416.0160	Concrete Pavement Joint Filling Concrete Driveway 6-Inch	400	SY	\$49.00	\$19,600.00	\$60.00	\$10,000.00		
416.0160		260	SY	\$49.00 \$50.00	\$19,600.00	\$60.00	\$24,000.00		
	Concrete Driveway 8-Inch								
416.0610	Drilled Tie Bars	1900	EACH	\$10.00	\$19,000.00	\$10.00	\$19,000.00		
416.0620	Drilled Dowel Bars	100	EACH	\$20.00	\$2,000.00	\$18.00	\$1,800.00		
465.0110	Asphaltic Surface Patching	15	TON	\$300.00	\$4,500.00	\$379.00	\$5,685.00		
601.0409	Concrete Curb & Gutter 30-Inch Type A	4900	LF	\$20.00	\$98,000.00	\$23.00	\$112,700.00		
602.0405	Concrete Sidewalk 4-Inch	1300	SF	\$6.00	\$7,800.00	\$7.00	\$9,100.00		
602.0415	Concrete Sidewalk 6-Inch	1470	SF	\$6.50	\$9,555.00	\$8.00	\$11,760.00		
602.0415.S	Concrete Sidewalk 8-Inch	1300	SF	\$7.00	\$9,100.00	\$9.00	\$11,700.00		
602.0515	Curb Ramp Detectable Warning Field Natural Patina	280	SF	\$40.00	\$11,200.00	\$42.00	\$11,760.00		
608.0318.S1	Storm Sewer Pipe Reinforced Concrete Class III 18-Inch (granular)	60	LF	\$141.00	\$8,460.00	\$128.00	\$7,680.00		
608.0318.S2		24	LF	\$186.00	\$4,464.00	\$83.00	\$1,992.00		
608.0324	Storm Sewer Pipe Reinforced Concrete Class III 24-Inch	820	LF	\$160.00	\$131,200.00	\$124.00	\$101,680.00		
608.0336	Storm Sewer Pipe Reinforced Concrete Class III 36-Inch	390	LF	\$250.00	\$97,500.00	\$177.00	\$69,030.00		
608.0348	Storm Sewer Pipe Reinforced Concrete Class III 48-Inch (slurry)	30	LF	\$520.00	\$15,600.00	\$574.00	\$17,220.00		
608.0415	Storm Sewer Pipe Reinforced Concrete Class IV 15-Inch	45	LF	\$108.00	\$4,860.00	\$83.00	\$3,735.00		
608.0512.S1	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch (granular)	510	LF	\$110.00	\$56,100.00	\$76.00	\$38,760.00		
608.0512.S2	Storm Sewer Pipe Reinforced Concrete Class V 12-Inch (slurry)	95	LF	\$130.00	\$12,350.00	\$140.00	\$13,300.00		
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class								
608.2329.S1		660	LF	\$405.00	\$267,300.00	\$301.00	\$198,660.00		
	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class				, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
608 2329 S2	HE-III 29x45-Inch (slurry)	64	LF	\$460.00	\$29,440.00	\$513.00	\$32,832.00		
000:2020:02	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class	· · ·	<u> </u>	V.00.00	Ψ20,ο.σσ	ψο τοισσ	402,002.00		
608 2368 S1	HE-III 68x106-Inch (granular)	200	LF	\$965.00	\$193,000.00	\$1,011.00	\$202,200.00		
000.2000.01	Storm Sewer Pipe Reinforced Concrete Horizontal Elliptical Class	200	<u> </u>	Ψ000.00	Ψ100,000.00	Ψ1,011.00	Ψ202,200.00		
608.2368.S2		24	LF	\$1,250.00	\$30,000.00	\$936.00	\$22,464.00		
611.2004	Manholes 4-FT Diameter	6	EACH	\$1,900.00	\$11,400.00	\$3,119.00	\$18,714.00		
611.2005	Manholes 5-FT Diameter	6	EACH	\$3,400.00	\$20,400.00	\$4,111.00	\$24,666.00		
611.2006	Manholes 6-FT Diameter	3	EACH	\$6,000.00	\$18,000.00	\$8,376.00	\$24,000.00		
		1	EACH				\$25,128.00		
611.2007	Manholes 7-FT Diameter			\$6,700.00	\$6,700.00	\$9,766.00			
611.2009.S	Manholes 9-FT Diameter	1	EACH	\$13,500.00	\$13,500.00	\$21,672.00	\$21,672.00		
611.3230	Inlets 2x3-FT	38	EACH	\$1,950.00	\$74,100.00	\$1,496.00	\$56,848.00		

611.8110.A	Adjusting Manhole Covers – Storm	2	EACH	\$625.00	\$1,250.00	\$649.00	\$1,298.00		
611.8110.A	Adjusting Manhole Covers – Storm Adjusting Manhole Covers – Sanitary	11	EACH	\$1,200.00	\$13,200.00	\$1,115.00	\$12,265.00		
611.8115	Adjusting Inlet Covers Adjusting Inlet Covers	2	EACH	\$475.00	\$950.00	\$649.00	\$1,298.00		
619.1000	Mobilization	1	EACH						
625.0100	Topsoil (4")	2400	SY	\$4.50	\$10,800.00	\$5.00	\$12,000.00		
628.7010		2400	EACH	\$55.00	\$10,800.00	\$55.00	\$12,000.00		
628.7010	Inlet Protection Type B	72	EACH						
	Inlet Protection Type D			\$100.00	\$7,200.00	\$109.00	\$7,848.00		
629.0210	Fertilizer Type B	2	CWT	\$75.00	\$150.00	\$105.00	\$210.00		
631.0300	Sod Water	45	MGAL	\$30.00	\$1,350.00	\$37.00	\$1,665.00		
637.1000	Sod Lawn	2400	SY	\$5.50	\$13,200.00	\$5.00	\$12,000.00		
638.2210	Signs Type II Reflective H	65	SF	\$22.00	\$1,430.00	\$26.00	\$1,690.00		
638.2602	Removing Signs Type II	5	EACH	\$20.00	\$100.00	\$16.00	\$80.00		
638.3000	Removing Small Sign Supports	2	EACH	\$20.00	\$40.00	\$16.00	\$32.00		
643.5000	Traffic Control	1	EACH	\$11,500.00	\$11,500.00	\$11,729.00	\$11,729.00		
645.0220	Geogrid Type SR	350	SY	\$5.00	\$1,750.00	\$4.00	\$1,400.00		
646.1020	Marking Line Epoxy 4-Inch	38	LF	\$7.00	\$266.00	\$7.00	\$266.00		
646.6120	Marking Stop Line Epoxy 18-Inch	33	LF	\$23.00	\$759.00	\$24.00	\$792.00		
646.7420	Marking Crosswalk Epoxy Transverse Line 6-Inch	150	LF	\$20.00	\$3,000.00	\$21.00	\$3,150.00		
SPV.0035.01	Unclassified Excavation and Backfill	230	CY	\$60.00	\$13,800.00	\$81.00	\$18,630.00		
SPV.0055.01	Repair Broken Spinkler Systems	5000	DOL	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
SPV.0060.01	Manhole Cover Storm	14	EACH	\$700.00	\$9,800.00	\$1,293.00	\$18,102.00		
SPV.0060.02	Inlet Cover Systems	43	EACH	\$700.00	\$30,100.00	\$1,333.00	\$57,319.00		
	Storm Manhole Structure 12x4-FT	1	EACH	\$32,000.00	\$32,000.00	\$23,766.00	\$23,766.00		
SPV.0060.03.02	Storm Manhole Structure 12x7-FT	1	EACH	\$53,000.00	\$53,000.00	\$33,076.00	\$33,076.00		
SPV.0060.04	Adjusting Water Valve Covers	6	EACH	\$400.00	\$2,400.00	\$315.00	\$1,890.00		
	Sump Pump Connection and Cleanout (Undistributed)	5	EACH	\$900.00	\$4,500.00	\$1,084.00	\$5,420.00		
	Storm Sewer Tap (Undistributed)	5	EACH	\$500.00	\$2,500.00	\$963.00	\$4,815.00		
	2-3/8" OD, 16 GA Galvanized Steel Posts, 12 Foot	6	EACH	\$135.00	\$810.00	\$121.00	\$726.00		
	30-Inch Round V-Loc	6	EACH	\$75.00	\$450.00	\$89.00	\$534.00		
SPV.0090.01	Sump Pump Connection – Pipe (Undistributed)	50	LF	\$46.00	\$2,300.00	\$41.00	\$2,050.00		
SPV.0105.01		1	LS	\$9,000.00	\$9,000.00	\$2,181.00	\$2,181.00		
	As-built Plans – Storm Sewer	1	LS	\$5,000.00	\$5,000.00	\$2,101.00	\$2,101.00		
	Polystyrene Insulation for Water Mains and Services	500	SF	\$3.00	\$1,500.00	\$1.00	\$500.00		
	Temporary Trench Patch	400	SF	\$50.00	\$20,000.00	\$63.00	\$25,200.00		
	Roadway and	Storm Sewer I				\$2,370			
Item Number	Kenosha Water Utility Items	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Water Service Relay (fittings included)	5	EACH	\$2,500.00	\$12,500.00	\$2,965.00	\$14,825.00		
	6-Inch Sanitary Sewer Lateral Offset	60	LF	\$114.00	\$6,840.00	\$361.00	\$21,660.00		
	Televising of Existing Sanitary Sewer to Remain in Place	1	LS	\$30,000.00		\$3,055.00	\$3,055.00		
5. 1.0100.00		a Water Utility I				\$39,5			
	Neil0311	a vvalor offilly i	Total Bid						
Total Bid \$2,164,994.00 \$2,409,864.00									